Lecture Note #2: Excel Basics

BUSI 201: Business Data Analysis

Fall 2023

Topic 1. Heights and Widths

Row Height

As we covered last session, the default font size in Excel is 11, which corresponds to a default row height of 14~18.¹ While there is no clear consensus, it is often advantegeous to adjust the height of the rows. Please take some time to compare the two tables below. The figure to the left is set to the default row height of 14.4, and to its right is the same table with the row height adjusted to 18.2.

	A	В	C	D	E	F	G		A	В	C	D	E	F	G
1	STATE			TOP CROPS				1				TOP CROPS			
2		#1	#2	#3	#4	#5		2	STATE	#1	#2	#3	#4	#5	
3	US-AZ	COTTON	WHEAT	LETTUCE	BARLEY	MELONS		2	115-47	COTTON	WHEAT	LETTUCE	PARIEV	MELONS	
4	US-CA	OBANCES	HAT & HATLAGE	VVHEAT	GRAPES	RICE			03-A2	corrow		LETTOCE	DANCET	INICEONS	
6	US-FL	COTTON	SOVREAMS	DEANUITS	COPN	WHEAT		4	US-CA	COTTON	HAY & HAYLAGE	WHEAT	GRAPES	RICE	
7	US-ID	WHEAT	BARLEY	POTATOES	HAY & HAYLAGE	SUGARBEETS		5	US-FL	ORANGES	SUGARCANE	PEANUTS	GRAPEFRUIT	SOYBEANS	
8	US-IL	CORN	SOYBEANS	WHEAT				6	US-GA	COTTON	SOYBEANS	PEANUTS	CORN	WHEAT	
9	US-IN	CORN	SOYBEANS	WHEAT				7	US-ID	WHEAT	BARLEY	POTATOES	HAY & HAYLAGE	SUGARBEETS	
10	US-KS	WHEAT	SORGHUM	CORN	SOYBEANS	HAY & HAYLAGE		8	US-IL	CORN	SOYBEANS	WHEAT			
11	US-KY	SOYBEANS	CORN	WHEAT	TOBACCO			0	LIS-IN	CORN	SOVBEANS	WHEAT			
12	US-MI	CORN	SOYBEANS	WHEAT	HAY & HAYLAGE	BEANS			0.0	CONT	SOLOLANS	CODE I	0.01/051110		
13	US-NC	SOYBEANS	CORN	WHEAT	CORN	TOBACCO		10	US-KS	WHEAT	SORGHUM	CORN	SOYBEANS	HAY & HAYLAGE	
14	US-NJ	SOYBEANS	CORN	WHEAT	SWEET CORN	POTATOES		11	US-KY	SOYBEANS	CORN	WHEAT	TOBACCO		
15	US-NY	HAY & HAYLAGE	CORN	WHEAT	SOYBEANS	OATS		12	US-MI	CORN	SOYBEANS	WHEAT	HAY & HAYLAGE	BEANS	
16	US-OH	SOYBEANS	CORN	WHEAT	HAY & HAYLAGE	OATS		13	US-NC	SOYBEANS	CORN	WHEAT	CORN	TOBACCO	
10	US-OR	CORN	BARLEY	POTATOES	UAIS	CORN		14	US-NJ	SOYBEANS	CORN	WHEAT	SWEET CORN	POTATOES	
10	US-PA	SOVBEANS	CORN	COTTON	WHEAT	SORGHUM		15	LIS-NY	HAV & HAVIAGE	CORN	WHEAT	SOVREANS	OATS	
20	US-TX	COTTON	WHEAT	SORGHUM	HAY & HAYLAGE	CORN		16		SOVERANS	CORN	MULEAT		OATS	
21	US-WA	WHEAT	BARLEY	HAY & HAYLAGE	POTATOES	CORN		10	05-0H	SUTBEANS	CORN	WHEAT	HAT & HATLAGE	OATS	
22	US-WI	CORN	HAY & HAYLAGE	SOYBEANS	OATS	WHEAT		17	US-OR	WHEAT	BARLEY	POTATOES	OATS	CORN	
23	MX-AGU	CORN	BEANS	ALFALFA	GUAVA	OATS		18	US-PA	CORN	HAY & HAYLAGE	SOYBEANS	WHEAT	OATS	
24	MX-BCN	WHEAT	COTTON	ALFALFA	BARLEY	SORGHUM		19	US-TN	SOYBEANS	CORN	COTTON	WHEAT	SORGHUM	
25	MX-CHH	CORN	OATS	BEANS	ALFALFA	COTTON		20	US-TX	COTTON	WHEAT	SORGHUM	HAY & HAYLAGE	CORN	
26	MX-CHP	CORN	COFFEE	BEANS	GRASS	COCOA		21	US-WA	WHEAT	BARIEY	HAY & HAVLAGE	POTATOES	CORN	
27	MX-CMX	CORN	OATS	CACTUS	BEANS	BROCCOLI		22	110 140	CODN		COVIDENNIC	OATC	MULTAT	
28	MX-COA	GRASS	CORN	SORGHUM	COTTON	OATS		22	05-001	CORN	HAT & HATLAGE	SUTBEAINS	UATS	WHEAT	
29	MX-COL	GRASS	LEMON	COCONUT	CORN	SUGARCANE		23	MX-AGU	CORN	BEANS	ALFALFA	GUAVA	OATS	
30	MX-DUK	CORN	COCONUT	CRASS	COFFEE	MANGO		24	MX-BCN	WHEAT	COTTON	ALFALFA	BARLEY	SORGHUM	
32	MX-GUA	CORN	SORGHUM	WHEAT	BEANS	ALEALEA		25	MX-CHH	CORN	OATS	BEANS	ALFALFA	COTTON	
33	MX-HID	CORN	BARLEY	BEANS	ALEALEA	COFFFF		26	MX-CHP	CORN	COFFEE	BEANS	GRASS	COCOA	
34	MX-JAL	CORN	GRASS	SORGHUM	SUGARCANE	WHEAT		27	MX-CMX	CORN	OATS	CACTUS	BEANS	BROCCOLL	
35	MX-MEX	CORN	OATS	GRASS	BARLEY	WHEAT		20	MAX COA	GRASS	CORN	SORGHUM	COTTON	OATS	
36	MX-MIC	CORN	SORGHUM	AVOCADO	GRASS	WHEAT		20	WIN-COA	GNASS	CORIN	SONGHOIM	COTTON	OATS	
37	MX-MOR	CORN	SORGHUM	SUGARCANE	BEANS	TOMATO		29	MX-COL	GRASS	LEMON	COCONUT	CORN	SUGARCANE	
38	MX-NAY	BEANS	CORN	SORGHUM	GRASS	SUGARCANE		30	MX-DUR	BEANS	CORN	OATS	SORGHUM	ALFALFA	
39	MX-NLE	GRASS	CORN	SORGHUM	WHEAT	ORANGES		31	MX-GRO	CORN	COCONUT	GRASS	COFFEE	MANGO	

Figure 1: Row Height = 14.4

Figure 2: Row Height = 18.2

While there isn't a definitive consensus on the ideal row height for a given document, a useful rule of thumb is to aim for around 1.5~1.7 times your font size. For instance, with a font size of 12, a suitable range for your row height would be between 18 and 20.4. Nevertheless, this guideline heavily relies on factors such as the document's purpose, target audience, and whether it's intended for paper printing, among other considerations.

¹The specifics depend on your version of Excel, the resolution and size of your display, etc.

Adjusting the Height of a Row

The simplest method to adjust the height of a single row would be to start by left-clicking on the row number that you want to modify. Next, right-click on the same row number to bring up a menu, as illustrated in Figure 3.



Figure 3: Adjusting the height of row 3

Adjusting the Height of Multiple Rows

To modify the row height for multiple rows, follow these steps: left-click on the first row you want to include, hold down the Shift key, and then left-click on the last row you want to adjust. After that, release the Shift key. Next, right-click on any of the selected row numbers and proceed with the same steps as you would when changing the height of a single row.

le <u>Home</u> Insert	Page Layout Calibri B I U	Formulas → 11 → ⊞ → . Pont	Data Re → A* A* ☆ → <u>A</u> →	niew Vie = = = =	ew Auto	mate F - 형 프 편 Alignment	lelp Wrap Text Merge & Cer	ter ~	General \$ ~ % Numl	9 1% 4 M	Conditio Formattin	nal Forr g ∼ Tab	nat as Net Net	mal Itral	Bad Calcula	tion	Good Check Cell		insert D	elete Forma	ΣA ∎t ΩFi	utoSum v I v Iear v tdti	ZV Sort & Find Filter ~ Selec	L Co L Rk Analys Analys	mments se	යි Share
▼ × ∨	fx																									
A B	C D	E	F	G	н	1	1	K	L	М	N	0	P	Q	R	S	Т	U	V	W	х	Y	Z	AA	AB	AC
Calibri v 11 v A*	A"\$-%!	• 🖼																								
B I Ξ 🗞 - 🐺	• 🖽 • 🐄 🖧	4																								
	_																									
Search the menus	_																									
X Cut																										
D Sopy																										
🛅 Paste Options:																										
⊜ 自																										
Orate Constant																										
Pasce gpecial																										
Insert																										
Delete																										
Clear Contents																										
Eormat Cells		r																								
Bow Height		Row Heis	ght ?	×																						
Hide		Bow hele	ght: 14.4																							
Unhide		0	к	Cancel																						
M		-																								

Figure 4: Adjusting the height of rows 3 to 20

Adjusting the Height of All Rows

In Excel, left-clicking on the top left-hand corner, as shown in Figure 5, will enable you to select all cells in the sheet. Once you have selected all cells, you can adjust the height of all rows by right-clicking on any of the row numbers and then following the same steps as you would for changing the height of a single row.

File Home Insert Page Layout Page Layout Page Layout Calible Page Layout Calible B I U Calible B I U Calible	Formulas Data Rev	iew View Autom	ate Help Wrap Text Merge & C geneent	enter ~ \$	ent - % 9 % \$ Number	v Conditional Formatting v	Format as Table ~	rmal l utral d Styles	3ad Calculation	Good Check Cell	Insert Delete Forma Cells	∑ AutoSum e Gerv © Clearv t	* 2♥ ♀ Sort & Find & Filter * Select *	Comments & Share
Cli	ck Her	ан eto	1 1	K	L M	N O	P	Q	R S	T U	V W	X Y	Z	AA AB AC
Selec	t A11	Cells												
< > Sheet1 +												G Display Settings		E+

Figure 5: Selecting all cells

Width of Columns?

Similar to adjusting row heights, the width of each column may need to be modified to accommodate the length of the information stored in specific cells. As with rows, there is no definitive rule to follow when determining the width of a column. Feel free to experiment with different widths, but ensure that all the information in the column remains easily visible.

File Paste	Home X Cut Cop For Clipboar	Insert t py ~ mat Painte rd	Page Ca B To	Layout libri I ⊔	Formulas v 11 v I⊞ v Font	Data V A^ A^ Calibri V B I =	Review A" = 11	View = = = A* A* A * #	Automa	nte He	IP Wrap Test Merge & Ce	nber ~ TS	General \$ ~ % Nur	9 18 1ber	al Con Form	litional Fon atting ~ Ta	mot as ble v	mal itral 51	Bad Calculat ytes	ion	Good Check Coll	() 9	insert De	ells	∑ Ai I⊒ Fi I I C	rtoSum I ear Editi	AT Sort & Find Filter~ Selev	C C & Anal t Da Anal	omments) yze ta riis	t∰ Share →
		5 toot	c	D		Search think	Cogtents				J Column Iu Galumn va Ou	K Vidth ?	L X	M	N		P	Q	R	5	T	U	v	W	X	Y	2	AA	<u>A8</u>	
eady	TC Access	sibility: Gos	od to go																						G Display	Settings	III III	-		+ 100%

Figure 6: Adjusting the width of column E

Automatic Adjustments

If you're uncertain about the appropriate width or height for specific columns or rows, there's a way to let Excel make the selection for you. If you encounter a column (or row) that is too narrow (or short) to display all of its content, you can hover your mouse over the "end" of the column (or the "bottom" of the row) as shown in Figure 7. The mouse cursor should change its shape, and when you double-click, Excel will examine all the elements in the column (or row) and adjust the width (or height) to neatly fit all the content.

File	н	ome In	sert Page	Layout F	ormulas	Data Rev	iew Vie	w Autom	ate He	lp			
Pa	- 2 	Cut ≧Copy ∽ Format P	Cal B	ibri I <u>U</u> ∼	•11 == • :	• A* A*	= =	= »·-	き (語)	Wrap Text Merge & Cer	ter ~ \$	zneral 5 ~ %	• ***
-	Cli	pboard	5		Font	5		A	ignment		5	Numb	ier G
Y41		~ 1	$\times \checkmark f_x$										
	Α	В	4	D	E	F	G	н	1	J	К	L	M
1			N		-								
2		Incuffi	ciont coaco					How	on	Mo	1160	H	no
4		Conter	it is spilling o	ver to adia	cent cell			100	ei	1.10	use	110	51 C
5								and	- n	Jour	مالە	-1:	ck
6								an		Our	16		CR
7													
8													
9													
10													
11													
12													
14													
15													
16													
17													
18													
19													
20													
21													
22													
24													
25													

File	Home Inse	rt Page Layo	ut Formulas	Data R	eview	View Auto	mate He	elp				
ĥ	🔏 Cut	Calibri	~][11	- A^ A	=	= 🖃 🗞	- 20	Wrap Text		General		*
Paste	Copy ∽ ✓ Format Pair	B I	⊻ - ⊞ -	<u>⊘</u> ~ <u>A</u>	- =	≡≡	•	Merge & Cer	nter ~	\$ ~ %	9 18	-00 -10
	Clipboard	5	Font		r ₂		Alignment		Fa	Nun	iber	G.
Y41	• : X	$\sqrt{f_x}$										
A		В		с	D	E	F	G	н	1	J	
1												
2												
3	Insufficie	nt space										
4	Content i	s spilling over t	o adjacent cell									
5												
6												
7												
8												
9												
10												
12												
13												
14												
15												
16												
17												
18												
19												
20												
21												
22												
23												
24												
25												

Figure 7: Narrow columns

Figure 8: Column width adjusted

Topic 2. Making Use of the Status Bar

The status bar is situated at the bottom of your spreadsheet, as depicted in Figure 9. When you select a range of numerical data, the status bar provides you with three default statistics for your selected numbers: the average, the count, and the sum.



Figure 9: Status bar

Mistakes are all too common when dealing with data and tables, and having quick calculations provided in real-time could prove incredibly useful. That being said, if you're dealing with a large amount of information, it's a better idea to rely on functions or pivot tables. However, using the status bar can be far more convenient when the dataset is small.

File	Home Insert	Page Layout F	Formulas Data Review View	Automate Help		P Co	mments 🛛 🖻 Shi	are 👻	File	Home Insert	Page Layout F	ormulas Data Review View /	Automate Help		P Co	mments 🔄 🖆	Share 👻
C C	L X Calibri	~ 12 ~ I	= = = 😫 General 🗸	Conditional Formatting	~ 🛛 🕮 In	sert ~			6	X Calibri	~ 12 ~	Ξ Ξ 🔄 🕸 Currency 👻	Conditional Formatting	- 💷 h	nsert ~		51
	[]h - B I	U - A* A*	====. \$ - % >	Format as Table ~	20 D	elete ~	Editing Asstan		L_L_	D- B I	⊻ ~ A* A*	≡≡≡⊠- \$-% 9	🕎 Format as Table ~	200 E	Delete 🛩	Editing Apab	51
Past	້ 🧭 🗄 🖬 🖓	0 - <u>A</u> -		Cell Styles ~	F F	ormat ~	* Data		rase *	🧳 🗄 - 🔤	<u>∧ - A</u> -	표표 🌮 - 😪 🖓	👿 Cell Styles ~	⊞ F	format ~	 Dat 	28
Clip	board IS	Font 5	Alignment IS Number	5 Styles		ells	Analysis	~	Clipt	ooard 15	Font S	Alignment 5 Number 1	5 Styles		Cells	Analy	rsis 🗸
85	▼1×√	fx Expo						~	HS	~ : X ~	fx =F5*G5						~
A	в	c	D	E	F	G	н	1 4	A	В	с	D	E	F	G	н	1 4
1									1								
2			Items in Storage	e: 2023Q3					2			Items in Storage	e: 2023Q3				- 1
3	Make	Type	Item	Detail O	uantity	Price	Val		3 4	Make	Type	ltem	Detail O	uantity	Price	Val	
5	Expo	Whiteboard	Low Odor Dry Frase Markers	36 Count	23	\$23.12	\$531.76		5	Expo	Whiteboard	Low Odor Dry Erase Markers	36 Count	23	\$23.12	\$531.76	- 1
6	Expo	Whiteboard	White Board Care Cleaning Spray	22 oz	17	\$16.78	\$285.26		6	Ехро	Whiteboard	White Board Care Cleaning Spray	22 oz	17	\$16.78	\$285.26	
7	Expo	Whiteboard	Dry Block Eraser	-	59	\$5.23	\$308.57		7	Ехро	Whiteboard	Dry Block Eraser		59	\$5.23	\$308.57	- 1
8	Clorox	Sanitary	Disinfecting Wipes	75 count, Pack of 3	8	\$12.78	\$102.24		8	Clorox	Sanitary	Disinfecting Wipes	75 count, Pack of 3	8	\$12.78	\$102.24	- 1
9	GOJO	Sanitary	Purell Hand Sanitizer	8 fl oz, Pack of 4	8	\$19.99	\$159.92		9	GOJO	Sanitary	Purell Hand Sanitizer	8 fl oz, Pack of 4	8	\$19.99	\$159.92	
10	P&G	Sanitary	Charmin Ultra Strong Clean Touch	T 24 Rolls	4	\$33.72	\$134.88		10	P&G	Sanitary	Charmin Ultra Strong Clean Touch	T 24 Rolls	4	\$33.72	\$134.88	
11	Amazon Basics	Sanitary	Liquid Hand Soap Refill	56 fl oz	9	\$5.36	\$48.24		11	Amazon Basics	Sanitary	Liquid Hand Soap Refill	56 fl oz	9	\$5.36	\$48.24	- 1
12	Kimberly-Clark	Sanitary	Kleenex Ultra Soft Facial Tissues	120 Tissues, 8 Boxe:	3	\$17.19	\$51.57		12	Kimberly-Clark	Sanitary	Kleenex Ultra Soft Facial Tissues	120 Tissues, 8 Boxe:	3	\$17.19	\$51.57	- 1
13	3M	Office Supplies	Post-it Stikcy Notes	3x3 inch, 24 Pads	12	\$20.59	\$247.08		13	3M	Office Supplies	Post-it Stikcy Notes	3x3 inch, 24 Pads	12	\$20.59	\$247.08	- 11
14	зм	Office Supplies	Scotch Magic Tape	12 Pack	7	\$24.49	\$171.43		14	3M	Office Supplies	Scotch Magic Tape	12 Pack	7	\$24.49	\$171.43	- 11
15	Amazon Basics	Office Supplies	Multipurpose Copy Printer Paper	4000 Sheets	34	\$39.99	\$1,359.66		15	Amazon Basics	Office Supplies	Multipurpose Copy Printer Paper	4000 Sheets	34	\$39.99	\$1,359.66	
16	Amazon Basics	Office Supplies	Stapler	1	11	\$9.02	\$99.22		16	Amazon Basics	Office Supplies	Stapler		11	\$9.02	\$99.22	- 11
17						S	¢2 400 92		1/						Sum	\$2,400,92	
19					_	Juili	\$3,455.63		19					_	30111	33,433,03	- 11
20									20								
21									21								- 11
22									22								- 1
23									23								- 1
24									24								- 1
25									25								- 1
27									27								- 1
28									28								- 1
29									29								- 1
30									30								- 1
31									31								- 1
32									32								- 1
33									33								- 1
34									35								- 11
36								-	36								
37								Ŧ	37								v
<	> 2023Q3	Stock Autofill	I Flash Fill References Op	+ : .		-	_	- P	<	> 2023Q3	Stock Autofil	I Flash Fill References Op		_	-	_	8 F
Ready	R Accessibility: Good	to go	Count: 1	2 W Display Settings		e	+ +	100%	Ready	RAccessibility: Good	ito go 🗛	rerage: \$291.65 Count: 12 Sum: \$3,499.8	🛾 🕼 Display Settings 🔠		巴		+ 100%

Figure 10: Text Only

Figure 11: Numbers Only

Please open the 2023Q3Stock sheet of the BUSI201-LEC02-Workbook.xlsx workbook. When you select a region containing text data, only the count information is returned, indicating the number of items in the given region. Try this by selecting cells B5: B16, as shown in Figure 10. To do this, left-click on cell B5, then drag the mouse cursor while holding down the left mouse button to cell B16, and finally release the left mouse button.

On the other hand, if you select a region with numerical data, the status bar will display three values. First is the count: the number of items included in the region. Second is the average value of the numbers in the selected region. Third is the sum of all values included in the region. Experiment with this by selecting cells H5:H16, as shown in Figure 13.

If you choose a mixture of text and numbers, the status bar will show you the average and sum of the numbers, but it will display the count of all cells containing any type of data. Hence, exercise caution when interpreting the numbers provided by the status bar.²

Adding Min / Max to the Status Bar

In practice, the average, count, and sum are all significant statistics. Nevertheless, you often need to determine the minimum and maximum values across all cells. These statistics can also be added to the status bar. Right-clicking on the status bar will bring up the menu depicted in Figure 12. After selecting Minimum and Maximum, you will notice that these two values now appear on the status bar alongside the default count, sum, and average values.

ĥ





٩

≣ \$ ≣ ≣

Figure 12: Adding items to status bar

Figure 13: New items in status bar

²There is a workaround where you can add a "numerical count" that reports the count of numerical items.

Topic 3. Navigating Between Worksheets

Basic Methods

Suppose you're responsible for managing a firm's office supplies, where you need to record and track essential items at the beginning of each quarter. You might have a workbook with worksheets like 2023Q3Stock in BUSI201-LEC02-Workbook.xlsx. Now, let's say you want to navigate among these worksheets to locate tables from a few quarters back.

When dealing with a small number of sheets in a workbook, moving between worksheets is straightforward. You can simply left-click on the sheet name located just above the status bar. For example, in our workbook BUSI201-LEC02-Workbook.xlsx, you would likely see the names of all worksheets, and clicking on any of them would immediately open the desired spreadsheet.

You can also navigate between adjacent worksheets using the hotkeys ctrl+pageup to move to the previous sheet or ctrl+pagedown to move to the next sheet. Holding down the hotkeys will take you to the first and last worksheets, respectively.

However, in a real-world scenario, the list of worksheets could be much longer and more detailed, with dozens of sheets spanning several years. If worksheet names are sufficiently long, locating and clicking on the desired worksheet might become challenging. What can be done in such situations?

The Activate Worksheet Window

The most "powerful" method for navigating between worksheets is to use the Activate option. Right-clicking the boxed region shown in Figure 14 will bring up the Activate window, which displays the complete list of worksheets included in the workbook.

File	Home Insert	Page Layout	ormulas Data Review View A	utomate Help													Comme	ents 🖻 S	share ~	
Past	Cut Copy ~ Format Painter	Calibri B I U ~	$ \square \rightarrow A^{*} A^{*} \equiv \equiv \blacksquare = $ $ \square \rightarrow A^{*} A^{*} = \equiv \blacksquare = $ fort $ [5] $	Image: Second state Image: Second state Image: Second state Image: Second state Alignment	er ~ 5	eneral ~ % 9 Number	- 	Cond Forma	litional For atting ~ Tal Style	matas able ~ S	Cell Styles *	Insert v	Delete F	ormat v	∑ AutoSur ↓ Fill ~ ♦ Clear ~	n × A Z Sort Filter	7 & Find & * Select *	Analyze Data Analysis	~	
A1	VIXV	fx																	~	
1	В	С	D	E	F	G	Н		1	J	К	L		м	N	0	Р	Q	R	i
2			Items in Storage	: 2023Q3				-	Activate					?	×					
3									Activate:											l
4	Make	Туре	Item	Detail	Quantity	Price	Va		2022Q3St	tock										
5	Expo	Whiteboard	Low Odor Dry Erase Markers	36 Count	22	\$23.12	\$508.64		2023Q1St	tock										
5	Expo	Whiteboard	Dev Black Essees	22 OZ	1/	\$10.78	\$285.20	2	2023Q25t	tock tock										
0	Clorex	Sanitany	Disinfecting Winer	- 75 count Pack of 3		\$12.25	\$102.24		Autofill Elarb Fill											
9	6010	Sanitary	Purell Hand Sanitizer	8 fl.oz. Pack of 4	8	\$19.99	\$159.92		Reference	8										
10	P&G	Sanitary	Charmin Ultra Strong Clean Touch	24 Rolls	4	\$33.72	\$134.88		Operators	5										
11	Amazon Basics	Sanitary	Liquid Hand Soap Refill	56 fl oz	9	\$5.36	\$48.24													
12	Kimberly-Clark	Sanitary	Kleenex Ultra Soft Facial Tissues	120 Tissues, 8 Boxe:	3	\$17.19	\$51.57													
13	3M	Office Supplies	Post-it Stikcy Notes	3x3 inch, 24 Pads	12	\$20.59	\$247.08	3												
14	3M	Office Supplies	Scotch Magic Tape	12 Pack	7	\$24.49	\$171.43	8												
15	Amazon Basics	Office Supplies	Multipurpose Copy Printer Paper	4000 Sheets	34	\$39.99	\$1,359.66	5												
16	Amazon Basics	Office Supplies	Stapler		10	\$9.02	\$90.20)												
17											_		_							
18						Sum	\$3,467.69	<u></u>				ОК		Cance	•					
20																				
21																				
22	R	iaht C	lick Here																	
23		igne e	There here																	
24																				J
25	K																			,
<	> 2022Q3	Stock 2022Q	4Stock 2023Q1Stock 2023Q2St	ock 2023Q3Stock	Autofill	Flash Fill	Refe 🚥	+		-				-					• •	
Ready	🎌 Accessibility: Good to	go											Gg Disp	olay Settin	95 🌐		I	-	- + 1009	5

Figure 14: Using the activate window

"Naming" Specific Cells

Suppose you anticipate frequently revisiting a particular cell while working on a specific workbook. In that case, rather than navigating through the worksheet to locate the cell, you can assign a name to that cell. This will enable you to easily return to that specific cell whenever needed.

File	Home Insert	Page Layout F	ormulas Data Revie	w View Autor	mate Help										🖓 Cor	nments 🛛 🖻	Share ~
Past	X Cut Copy ~ ≪ Format Painter	Calibri B I U ~	• 12 • A^ A [*] ⊞ • <u>A</u> • <u>A</u> •	= = = ≫ •	Wrap Text	er ~ \$	irrency ~ % 9		Conditiona Formatting	I Format as (* Table * Sty	ell Ins	ert Delete F	ormat €	AutoSum ~ Fill ~ ' Clear ~	AZY Sort & Find Filter * Selec) â Analyze t → Data	
	Clipboard IS	2	Font 😼	A	lignment	l5i	Number	G.		Styles		Cells		Ed	iting	Analysis	
SUM2	023Q3 🗸 E 🖂 🗸	fx =SUM(H5:	H16)														~
1 A	√ ^B	С	D		E	F	G	Н	1	J	К	L	M	N O	Р	Q	R
2	Nar	ne Box	Items in	Storage: 2	023Q3				_								- 1
3	Make	Tuna	Itam	Da	tail	Quantity	Price	. v									- 1
5	Expo	Whiteboard	Low Odor Dry Frase I	Aarkers 36	Count	22	\$23.12	\$508.64									
6	Expo	Whiteboard	White Board Care Cl	aning Sprav 22	07	17	\$16.78	\$285.26									
7	Expo	Whiteboard	Dry Block Eraser			59	\$5.23	\$308.57									
8	Clorox	Sanitary	Disinfecting Wipes	75	count, Pack of 3	8	\$12.78	\$102.24									
9	GOJO	Sanitary	Purell Hand Sanitizer	8 f	l oz. Pack of 4	8	\$19.99	\$159.92									
10	P&G	Sanitary	Charmin Ultra Strong	Clean Touch 24	Rolls	4	\$33.72	\$134.88									
11	Amazon Basics	Sanitary	Liquid Hand Soap Re	fill 56	fl oz	9	\$5.36	\$48.24									
12	Kimberly-Clark	Sanitary	Kleenex Ultra Soft Fa	cial Tissues 12	0 Tissues, 8 Boxe:	3	\$17.19	\$51.57									
13	3M	Office Supplies	Post-it Stikcy Notes	3x3	3 inch, 24 Pads	12	\$20.59	\$247.08									
14	3M	Office Supplies	Scotch Magic Tape	12	Pack	7	\$24.49	\$171.43									
15	Amazon Basics	Office Supplies	Multipurpose Copy F	rinter Paper 40	00 Sheets	34	\$39.99	\$1,359.66									
16	Amazon Basics	Office Supplies	Stapler			10	\$9.02	\$90.20									
17 18 19 20 21 22 23 24 25							Sum	\$3,467.69									
26																	
<	> 2022Q39	stock 2022Q4	IStock 2023Q1Stock	2023Q2Stock	2023Q3Stock	Autofill	Flash Fill	Refe ***	+ :	4	_	_	-	_	-	-	
Ready	TAccessibility: Good to	go										La Dis	play Settings	III (II	I 🖽	-	- + 100%

Figure 15: Using the name box

In the top left corner, you'll find the "Name Box." To assign a name to a cell, select the cell and leftclick on it. Then, modify the value in the Name Box to give the cell a name. In this example, we are renaming cell H18 as SUM2023Q3. Once you've done this, you can navigate to other worksheets, and easily return to the named cell by typing sum2023q3 into the Name Box.

Note that cell naming is case-insensitive, meaning that sum2023q3 will take you to the cell named SUM2023Q3. Additionally, there are rules to follow when assigning names to cells. Names cannot start with a number, so 2023Q3SUM is not a valid option. Similarly, names cannot contain spaces, so SUM 2023Q3 is not allowed. Lastly, you cannot name a cell that is reserved by the system, including default cell addresses like A1 or CN235.

Topic 4. Finding and Replacing

File Paste	Home Insert	Page Layout F	ormulas Data Review View A $\neg 11 \rightarrow A^*$ A^* $\Xi \equiv \Xi$ Ξ \square \neg A^* $\Xi \equiv \Xi$ \square \neg A^* Ξ font r_5	Automate Help	Ğe ~ \$	neral ~ % 9 Number		Conditional F Formatting ~	format as Table * Styles * tyles	Insert Delu	ete Format	∑ AutoSum ~ ↓ Fill ~ & Clear ~ Editi	₽ Z Sort & Filter ~	Comments Share Find & Analyze Data
T49 A 1 2 2 3 4 5 6 7 8 9 101 11 11 12 13 14 15 16 17 118 19 201 221 222 223 224 256 26	Kana and Angele an	fa c Whiteboard Whiteboard Whiteboard Sanitary S	Ltems in Storage Law Odor Dry Erase Markers White Board Care Cleaning Spray Dry Block Eraser Disinfecting Wipes Purell Hand Sanitier Charmin Ultra Strong Clean Toucl Liquid Hand Soap Refill Kleenex Ultra Soft Facial Tissues Post-i Stikey Notes Socht Magic Tape Multipurpose Copy Printer Paper Stapler	E 2023Q3	F Uanticy 22 17 79 8 8 Find a Repl With Uotk Repl Uotk Repl	G Price \$23.12 \$16.78 \$5.23 \$12.78 d Replace d Replace d Replace the By Rows in: Formulas slace all	H V/ \$508.6 \$308.5 \$102.2 Beplace	MARCh gase MARCh gase Find	J K	Format Set C	Replace (C Search for to and replace Format • Format • pptons << Close	tr+H) Exert you'd like to ch it with something	ange, else:	↓ Bestace Go To Go To Go To Special Formylas Notes Conditional Formatting Cogtants Data Validation Data Validation Select Opents Select Opents Selection Pane
< Ready	> 2022Q3	Stock 2022Q4	4Stock 2023Q1Stock 2023Q25	tock 2023Q3Stock	wtofill	Flash Fill	Refe ***	+ : «		C	a Display Settin	95 🏛 🔳		+ 1009

Figure 16: Find and replace

Find and Replace Values

The more information each worksheet contains, it becomes increasingly difficult to locate cells containing specific information. We will learn of more efficient methods later in the semester, but for now we will explore another powerful tool, Find and Replace. To access this function, navigate to Home > Find&Select > Replace. If you are on PC, you can also use the hotkey [crt]+H.

ĥ	X Calib ∏th v B	ri v12 v I U v A* A*	= = = = *	General	Conditional For	matting ~ 🐰	Insert ~	\mathcal{P}	
aste	4 H.			€19 .99	Cell Stules v	1	E Format x	Editing Analyz	×
Tinbo	and 5	Font D	Alignment	.00 ->0 5 Number	190 Cell Styles -		Gells	Analysi	
		(f.]	Deelee	a number	a squa			Analyz	
		V Jx Amazon	Basics				~		
A	D		L		5	r	0	n	
			Item	s in Storag	e: 2023Q3				
	Make	Туре	Item		Detail	Quantity	Price	Val	
	Ехро	Whiteboard	Low Odor Dry Eras	e Markers	36 Count	22	\$23.12	\$508.64	
	Expo	Whiteboard	White Board Care	Cleaning Spray	22 oz	17	\$16.78	\$285.26	
	Expo	Whiteboard	Dry Block Eraser		-	59	\$5.23	\$308.57	
	Clorox	Sanitary	Disinfecting Wipe	s	75 count, Pack of	3 8	\$12.78	\$102.24	
	GOIO	Sanitary	Purell Hand Saniti:	zer	8 fl oz, Pack of 4	8	\$19.99	\$159.92	
	P&G	Sanitary	Charmin Ultra Stro	ing Clean Touch	T 24 Rolls	4	\$33.72	\$134.88	
	Amazon Basi	ics Sanitary	Liquid Hand Soap	Refill	56 fl oz	9	\$5.36	\$48.24	
	Kimberly-Cla	rk Sanitary	Kleenex Ultra Soft	Facial Tissues	120 Tissues, 8 Box	(e: 3	\$17.19	\$51.57	
	3M	Office Supplies	Post-it Stikcy Note	s	3x3 inch, 24 Pads	12	\$20.59	\$247.08	
	зм	Office Supplies	Scotch Magic Tap	2	12 Pack	7	\$24.49	\$171.43	
		and the former line	Multinumose Con	y Printer Paper	4000 Sheets	34	\$39,99	\$1,359.66	
	Amazon Bas	ics Office supplies	- manaparpose cop						
	Amazon Bas Amazon Bas	ics Office Supplies	Stapler			10	\$9.02	\$90.20	
	Amazon Bas Amazon Bas Find a	ics Office Supplies nd Replace	Stapler		- 🗆 X	10	\$9.02 Sum	\$90.20 \$3,467.69	
	Amazon Bas Amazon Bas	nd Replace	Stapler		- • ×	10	\$9.02 Sum	\$90.20 \$3,467.69	
	Amazon Bas Amazon Bas Find a Fir	ics Office Supplies ics Office Supplies id Replace ig Replace what Amazon Basics	Stapler	No Form	X	10	\$9.02 	\$90.20 \$3,467.69	
	Amazon Bas Amazon Bas Find a	Ics Office Supplies	Stapler	No Form	- C X	10	\$9.02 Sum	\$90.20 \$3,467.69	
	Amazon Bas Amazon Bas Find a Fir Figd	Ics Office Supplies Ics Office Supplies Ind Replace Ind Replace Ind Replace Ind Replace Ind Replace Ind Replace Ind Replace Ind Replace Ind Replace Ind Replace	Stapler	V No Form	- C X	10	\$9.02 Sum	\$90.20 \$3,467.69	
	Amazon Bas Amazon Bas Find a Find a Find Right With	Ics Office Supplies Ics Office Supplies Ind Replace Ind Replace Ind Replace Ind Amazon Basics See with: In: Sheet V	Stapler	V No Form	- X	10	\$9.02	\$90.20 \$3,467.69	
	Amazon Bas Amazon Bas Find a Find a Find a Find a Right With Sterr	Ics Office Supplies Ics Office Supplies and Replace add Replace ad	Match page Match page Match entire cell cgntee	No Form	- X	10	59.02 Sum	\$90.20 \$3,467.69	
	Amazon Bas Amazon Bas Find a Fir Fiel Repla	Ics Office Supplies Ics Office Supplies and Replace add Replace ad	Match pase Match pase Match entire cell center	No Form	- C X	10	59.02 Sum	\$90.20 \$3,467.69	
	Amazon Bas Amazon Bas Find a Fir Figd Rgpk With Sean Look	Ics Office Supplies Ics Office Supplies Ind Replace Ind Replace In	Match gase Match entire cell cgeter	Vo Form	- X at Set Format. • Format. • Oppions <<	10	Sum	\$90.20	
	Amazon Bas Amazon Bas Find a Find a Find Right Ster Look	In Replace	Match page Match entire cell contes	Vio Form	- X	10	Sum	\$90.20 \$3,467.69	
	Amazon Bas Amazon Bas Find a Fig Rgph With Sear Look	In the supplies of the supplie	Stapler Match pase Match entire cell center Find All	Vo Form	At Set Format. • Format. • Oppions << Close	10	Sum	\$90.20 \$3,467.69	
	Amazon Bas Amazon Bas Find a Fir Fiel Repl Uok Rep	In the supplies of the supplie	Stapler Stapler Stapler Match pase Match pase Match entre cell opnie Find All Neet Name Co	No Form No Form Its	At Set Forgat • At Set Forgat • Coppions << F.	10	\$9.02 	\$90.20 \$3,467.69	
	Amazon Bas Amazon Bas Find a Fig Fiel Repl With Sear Look	In the supplies of the supplie	Stapler Stapler Stapler Match pase Find All there Name Co	No Form N	At Set Forgat. •	10	<u>\$9.02</u>	\$90.20 \$3,467.69	
	Amazon Bas Amazon Bas Find a Find a Find a Find a Repla Wrth Sean Look Reg Book Reg Book Reg Book Reg Book	cs Office Supplies in Replace d	Stapler Stapler Stapler Match gate Find All Name C Stapler Stapler	No Form	- X at Set Forgat. • Forgat. • Options << Close	10	Sum	\$90.20 \$3,467.69	
	Amazon Bas Amazon Bas Find a Field Repl Wrby Sean Look Reg Rook Reg Rook Reg Rook Reg Rook	In the supplies of the supplie	Stapler Stapler Stapler Match pase Find All Det Name C Stapler Staple	No Form No Form No Form Its End Next Bit Annaco Basic Stif Annaco Basic Stif Annaco Basic	At Set Forgat A Set Set Forgat Close	10	Sum	\$90.20 \$3,467.69	
	Amazon Bas Amazon Bas Find a Fir Ped Reph Web Sam Look Rep Look Rep Look Sam Sam Sam Sam Sam Sam Sam Sam Sam Sam	cs Office Supplies and Replace al Replace al Replace ahat: Arraton Banks see with: try formulas ↓ Here & Berland Here & Berla	Stapler Stapl	No Form No Form Nis Eind Next Eind Eind Next Eind Eind Eind Eind Eind Eind Eind Eind Eind Eind Eind Eind Eind Eind Eind Eind Eind Eind Eind	- X at Set Forgat Forgat Copioss << Close	10	Sum	\$90.20 \$3.467.69	
	Amazon Bas Amazon Bas Find a Fir Field Replix Web Seek Book Buskon Busko	In Replace and the supplies of	Stapler Stapl	No form to form the f	- X at Set Forgat. • Forgat. • Copions << Forgat. • Close	10	Sum	\$90.20 \$3,467.69	
	Amazon Bas Amazon Bas Find a Find Find Find Find Find Find Find Find	cs Office Supplies cs Office Sup	Stapler Stapler Stapler Stapler Match pase Find All Peter Name Construction Stapler S	Heo Form Heo Form Fis	- X At Set Forgat. + Copions << Copions << Copions + F. S	10	sum	<u>\$90.20</u> <u>\$3,467.69</u>	

Figure 17: Finding Amazon Basic

Please open the 2023Q3Stock sheet in BUSI201-LEC02-Workbook.xlsx. We will now attempt to locate all occurrences of Amazon Basics on this specific worksheet. You can achieve this by using the "Find and Replace" tool, typing Amazon Basics next to "Find what," and clicking on "Find All." As shown in Figure 17, all instances of Amazon Basics will be listed in the "Find and Replace" window.

By clicking on the items in the "Find and Replace" window, you can navigate between each occurrence of Amazon Basics. I encourage you to try this with other items as well.

pboard	6	Font IS	Alignment (5 Number	rs Styles		Cells	Analysis
A		C Jx	D	E	F	G	н
_							
_			Items in Storag	e: 2023Q3			
M	ake	Туре	ltem	Detail	Quanti	ty Price	e Val
Ð	po	Whiteboard	Low Odor Dry Erase Markers	36 Count	1	22 \$23.12	\$508.64
Ð	ipo	Whiteboard	White Board Care Cleaning Spray	22 oz	1	17 \$16.78	\$285.26
Ð	po	Whiteboard	Dry Block Eraser	-	5	59 \$5.23	\$308.57
C	orox	Sanitary	Disinfecting Wipes	75 count, Pack of	3	8 \$12.78	\$102.24
G	010	Sanitary	Purell Hand Sanitizer	8 fl oz, Pack of 4		8 \$19.99	\$159.92
P	kG	Sanitary	Charmin Ultra Strong Clean Touch	T 24 Rolls		4 \$33.72	\$134.88
Ar	nazon	Sanitary	Liquid Hand Soap Refill	56 fl oz		9 \$5.36	\$48.24
KI	mberly-Clark	Sanitary	Kleenex Ultra Soft Facial Tissues	120 Tissues, 8 Bos	ce:	3 \$17.19	\$51.57
31	VI	Office Supplies	Post-it Stikcy Notes	3x3 inch, 24 Pads	-	7 \$20.59	\$247.08
51	vi	Office Supplies	Scoton Wagio Tape	12 Pack		7 524.49	\$171.45
A1	nazon	Office Supplies	Multipurpose Copy Printer Paper	4000 sneets		0 0000	51,559.00
						Sum	\$3,467.69
		Find and Replace			×	Vicrosoft Excel	
		Fing Reglar	e		-	All done	e. We made 3 replacem
		Find what: Arria	zon Basics 🗸 🗸	No Format Set For			
		Replace with: Ama	zon 🗸	No Format Set For	mat •		ОК
		Within: Sheet	V Match case				
		Faserby Bullease	Match entire cell contents				
		gearcic ay routs					
		Look in: Formulas	×	Option	8 < <		
		Parling 41	Perlan	reduce 1			
		Replace Bi	Debrace blue we	Eug Mess	JONE		

Figure 18: Replacing Amazon Basic to Amazon

Now, let's say we want to change Amazon Basics to the more concise term Amazon. In this specific example, this task is simple since we only have three instances to change. However, for a large dataset, manually finding and changing each occurrence would become a tedious process. Thankfully, the "Find and Replace" function can help us accomplish this task efficiently.

In this particular case, you can input Amazon Basics next to "Find what," and Amazon in the "Replace with" field. Afterward, click on "Replace All." Excel will then display a notification similar to Figure 18, indicating that all three instances of Amazon Basics have been changed to Amazon.

One word of caution before we move on to our next topic: you should never press "Replace All" prematurely. As you may have observed in Figure 18, Excel doesn't provide details about which cells it changes; it only confirms that it carried out the command. The best practice is to initially click on "Find All," review the list to ensure that Excel is only targeting the items you intend to change, and then proceed with "Replace All."

Find and Replace Options

File	Home Insert	Page Layout	Formulas Data	Review View	Automate Help		Comments	🖻 Share 👻
Î	n 🔏 Calibri	v[11 v	≡ ≡ ₿	General	Conditional For	matting ~ 🛛 🔠 Ins	ert ~ 🔎	0
Pas	te 🗈 × B I	⊻ ~ A* A*		~ \$~% 9	Format as Table	× ₩ De	lete ~ Editing	Analyze
~	🎸 🗄 🗸	<u>⊘</u> v <u>A</u> v	± ± ≫		📝 Cell Styles ~	🗮 Fo	mat ~ ~	Data
Clip	board %	Font 5	Alignment	Fis Number	rs Styles	0	HIS	Analysis Y
D21	▼!×<	f _x						~
1	A B	с		D	E	F	G H	1
2			Iten	ns in Storag	e: 2023Q3			- 1
3	Make	Type	Item		Detail	Quantity	Price	Val
5	Expo	Whiteboard	Low Odor Dry Er	ase Markers	36 Count	22	\$23.12 \$508	.64
6	Expo	Whiteboard	White Board Car	e Cleaning Spray	22 oz	17	\$16.78 \$285	.26
7	Expo	Whiteboard	Dry Block Eraser		-	59	\$5.23 \$308	.57
8	Clorox	Sanitary	Disinfecting Wip	ies	75 count, Pack of	3 8	\$12.78 \$102	.24
9	GOJO	Sanitary	Purell Hand Sani	tizer	8 fl oz. Pack of 4	8	\$19.99 \$159	.92
10	P&G	Sanitary	Charmin Find and	d Replace			– 🗆 🗙	3
11	Amazon Basics	Sanitary	Liquid Ha	Paping				1
12	Kimberly-Clark	Sanitary	Kleenex	regare			_	7
13	3M	Office Supplies	Post-it St Find wi	hat: Amazon Basics		V No Format 3	iet Format •	3
14	3M	Office Supplies	Scotch N Replac	e with: Amazon		 No Format 5 	iet Format •	3
15	Amazon Basics	Office Supplies	Multipur Otening Within	Workbook	Match gase			2
17	Amazon basics	Office supplies	Stapler	Pr Rowt V	Match entire cell conter	ts		-
18			2cores	ey rooms		-		
19			Took a	· Pormulas ·			Oppoils « «	
20			Bank	era All Banka	co. End til	End Next	Close	
21				and Delay	-	- Duranten		
22								
23								
25								
26								
27								
28								
29								
30								
31								
33								
34								
35								
36								
37 <	> 2022Q	3Stock 2022Q	4Stock 2023Q1	Stock 2023Q2			_	*
Ready	TS Accessibility: Goo	d to go			Display Settings			+ 100%

Figure 19: Replacing Across Sheets

In the previous example, we explored how to find and replace specific values within a given worksheet. However, if we want to replace instances of Amazon Basics with Amazon not only for 2023Q3 but also for all other quarters, we need to adjust the value in the "Within" field to Workbook. By changing the search scope from the individual worksheet to the entire workbook, we can update all occurrences of Amazon Basics to Amazon.

Additionally, there are other options worth considering, such as the "Match Case" and "Match Entire Cell Contents" options.

Find and Replace Formats

This "Find and Replace" function also provides the capability to select cells that share a specific format, such as font, font size, or cell color, and replace it with a new format. Let's consider the worksheet 2023Q3Stock in the workbook BUSI201-LEC02-Workbook.xlsx. Imagine that you wish to change the cell color of the row containing variable names in the sheet 2023Q3Stock to dark gray instead of black.



Figure 20: Selecting the cells to change

Figure 21: Target format

Open the "Find and Replace" window to match the setup shown in Figure 20. Then, choose Choose format from Cell and select the cells you want to modify. Afterward, select the replacement format, as illustrated in Figure 21. In this instance, we're altering the cell background color; however, you have the ability to modify various formats such as font, font size, cell number format, alignment, borders, and more.

Topic 5. Autofill

Excel's autofill function operates by analyzing the data to identify any existing patterns and then applying that pattern to automatically populate empty cells. Please open the Autofill sheet in the workbook BUSI201-LEC02-Workbook.xlsx to practice. Below is a brief summary of some of the rules that Excel follows when autofilling cells:

	Select Single	Select Single Cell Se		
	Drag	Drag + ctrl	Drag	Drag + ctrl
Text		Repeat Same V	Value(s)	
Number	Repeat Value	Increasing by 1	Recognize Pattern	Repeat Selected Values
Date	Increasing by 1 day	Repeat Same Value	Recognize Pattern	Repeat Selected Values
Time	Increasing by 1 hour	Repeat Same Value	Recognize Pattern	Repeat Selected Values
Text + Number	Last Number Increases by 1	Repeat Same Value	Recognize Pattern	Repeat Selected Values

After autofilling a section of the spreadsheet, you should have the opportunity to review certain autofill options that were applied during the process. This option will appear, as shown in Figures 22 and 23. The specific options presented may vary depending on the type (format) of data that Excel autofilled. Figure 23 illustrates the options presented when the autofilled cells are recognized as dates.



Figure 22: Accessing autofill options



Figure 23: Example of autofill options

Custom Lists

While Excel provides a range of useful autofill patterns, there may be instances where you frequently use certain custom patterns. For example, imagine you regularly create weekly incident reports detailing accidents or consumer complaints. In such cases, you might want Excel to automatically populate certain cells as part of your report.

6	Good morning									
🔒 Home	~ New									
Den Get Add-ins	Bank werkbook	Take a tour	Get stansed with Formulas for Formula tutorial	Melayour Fox PivotTable	Gantt pr	oject planner	Simple Gant chart	Weekly schedule planner	Milestow infographic timeline	Inventory list with highlighti
Save	Escel Options				× 7)				Mess templater
Shine Ar	General	Suster type		Ophons,.						inter company -
Print	Formulas Data	When calculating this workbook:	8USI201-LEC02-Wo *							
Share	Proofing	Set grecision as displayed						Date morified		
Export	Save	Save egternal link values								
Publish	Accessibility	General								
Clase	Ridvanced Customice Ribbon Qwirk Access Toolbar Add-ins Tirust Center	gener gyber applications that use Dy det to gyber automatic field source of the system automatic field source of the system automatic field source of the system automatic field det automatic field automatic field det automatic field automatic field det automati	namic Data Exchange (DOI) er slæs pp nces Edit Custgen Lists							
Account		Transition formula evaluation Transition formula entry								
Feedback				OK	Cancel					
Options						,				

Figure 24: Navigate to custom lists

To achieve this goal, navigate to File > Options > Advanced. Scroll down until you locate Edit Custom Lists. Here, you can add your own custom list that will be available for future autofills. Figure 25 demonstrates the application of a custom list.



Figure 25: Applying custom lists

Topic 6. Flash Fill

Flash Fill is an Excel function that bears some similarity to autofill, as it offers user convenience by attempting to recognize patterns in existing data and automatically filling out certain cells. To practice this feature, please open the Flash Fill sheet in the workbook BUSI201-LEC02-Workbook.xlsx, which contains a list of the Business and Economics faculty at Monmouth University. Let's say we want to extract information like first and last names, login IDs, office numbers, and phone extensions. A straightforward method to achieve this is through a variation of autofill, known as flash fill.

File Pas	Home Inser	t Page Layout Formulas Data Calibri $11 \rightarrow A^{*} A$ B $I \ \square \lor \square \lor \triangle \lor \triangle$	Review View Automate Help	ext G & Center ~ §	eneral → \$ ~ % 9 50 30	Conditional Format Formatting ~ Table	as Cell Styles	Delete Format	ItoSum × AV ZV × Sort & Fin ear × Filter × Sele	mments Analyze	
	Clipboard	Fs Font	Fa Alignment	5	Number Fa	Styles		Cells	Editing	Analysis	Ě
P43	~ I X	√ fx									
1 A	В	C	D	E	F	G	Н			J	- A
2			Flash Fill Exers	ize: MC Bu	usiness & Ecor	nomics Facult	ty List				
3											- 11
4	Name	Office	Email	Phone (200) 457 2404	First Name	Last Name	e Login I	ID Office	Number I	xtension	- 1
5	Saadullan Bashir	Rm 348 C5B Rm 257 C5B	spasnir@monmouthcollege.edu	(309) 457-2184	Saadullan	Bashir	sbashir		348	2184	
7	Michael Connell	Rm 258 Center for Science & Business	michaelc@monmouthcollege.edu	309-457-2156							
8	Richard Johnston	Rm 247 Center for Science & Business	richardj@monmouthcollege.edu	309-457-2182							
9	Tom Prince	Rm 259 Center for Science & Business	tprince@monmouthcollege.edu	309-457-2234							
10	Brian Park	Rm 248 CSB	bpark@monmouthcollege.edu	(309) 457-2449)						Т
11	Herb Schmidt	Rm 251 CSB	heschmidt@monmouthcollege.edu								
12											
13											
15											
16											
17											
18											
19											
20											- 8
21											- 8
22											- 8
23											
25											
26											
27											Ŧ
<	> 2022	Q3Stock 2022Q4Stock 2023Q15	tock 2023Q2Stock 2023Q3Sto	ck Autofill	Flash Fill +					-	Þ
Ready	😤 Accessibility: Goo	od to go						La Display Settings	III II -	+	100%

Figure 26: Flash fill setup

To initiate flash fill, you first need to manually fill out the (at least the) first row. Excel will utilize this information to deduce the pattern it should apply to fill out the remaining rows. Once the first row is completed, select a cell directly below the first row and use the hotkey ctrl+E. In Figure 27, you can observe that flash fill effectively extracts the first names.

Home Insert	t Page Layout Formulas Data	a Review View Automate Help				🖓 Comments 🛛 🖨 Sha
K Cut Copy ∽ ≪ Format Painte Clipboard	er F_{3} $Calibri$ V $(11) / F$ $(1$	A [×] = = = → → · ☆ Wrap A [×] = = = = = = = = = = = = = = = = = = =	Text General	Conditional Format as Cell Formatting ~ Table ~ Styles ~	Insert Delete Format	∑ AutoSum ~ Ž∑ Fill ~ Sort & Find & Analyze Clear ~ Filter ~ Select ~ Data Edding Analyze
V I X	√ fx					
В	С	D	E F	G	н	I J
		Flash Fill Exer	size: MC Business & Eco	nomics Faculty List		
Name	Office	Email	Phone First Name	Last Name	Login ID C	Office Number Extension
Saadullah Bashir Amanda Cleland	Rm 348 CSB Rm 257, CSB	sbashir@monmouthcollege.edu acleland@monmouthcollege.edu	(309) 457-2184 Saadullah (309) 457-2365 Amanda	Bashir sb	ashir	348 2184
Aichael Connell Richard Johnston	Rm 258 Center for Science & Busine Rm 247 Center for Science & Busine	ss michaelc@monmouthcollege.edu	309-457-2156 Michael 309-457-2182 Richard	4		
om Prince	Rm 259 Center for Science & Busine	ss tprince@monmouthcollege.edu	309-457-2234 Tom			
rian Park Jerb Schmidt	Rm 248 CSB Rm 251 CSB	bpark@monmouthcollege.edu heschmidt@monmouthcollege.edu	(309) 457-2449 Brian Herb			
> 20220	Q3Stock 2022Q4Stock 2023	Q1Stock 2023Q2Stock 2023Q3Sto	ock Autofill Flash Fill -	- : (

Figure 27: Flash filled second row